



Necessary and sufficient conditions for oscillations of first order neutral delay difference equations with constant coefficients

A. Murugesan *, P. Sowmiya

Department of Mathematics, Government Arts College (Autonomous), Salem-636 007, Tamil Nadu, India
**Corresponding author E-mail: amurugesan3@gmail.com*

Copyright ©2015 A. Murugesan and P. Sowmiya. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract

In this paper, we establish the necessary and sufficient conditions for oscillation of the following first order neutral delay difference equation

$$\Delta[x(n) + px(n - \tau)] + qx(n - \sigma) = 0, \quad n \geq n_0, \quad (*)$$

where τ and σ are positive integers, $p \neq 0$ is a real number and q is a positive real number. We proved that every solution of (*) oscillates if and only if its characteristic equation

$$(\lambda - 1)(1 + p\lambda^{-\tau}) + q\lambda^{-\sigma} = 0 \quad (**)$$

has no positive roots.

Keywords: Neutral, delay difference equation, oscillatory properties.

1. Introduction

In this paper, we consider the first order neutral delay difference equation of the form

$$\Delta[x(n) + px(n - \tau)] + qx(n - \sigma) = 0, \quad n \geq n_0, \quad (1)$$

where Δ is the forward difference operator given by $\Delta x(n) = x(n + 1) - x(n)$, τ and σ are positive integers, $p \neq 0$ is a real number and q is a positive real number.

Let $s = \max\{\tau, \sigma\}$ and n_0 be a fixed nonnegative integer. By a solution of (1), we mean a nontrivial real sequence $\{x(n)\}$ which is defined for all positive integer $n \geq n_0 - s$ and satisfies (1) for $n \geq n_0$. A solution $\{x(n)\}$ of (1) is said to be oscillatory if for every positive integer $N > n_0$, there exists $n \geq N$ such that $x(n)x(n + 1) \leq 0$, otherwise $\{x(n)\}$ is said to be nonoscillatory.

The oscillation theory of neutral delay difference equation has been extensively developed during the past few years. See, for example, [4,8,9,11] and the references cited therein. For the general background on difference equations, see the monographs [2,3,5-7].

In [10], Xiaohui Gong et al. proved that if $-1 < p < 0, \tau - \sigma > 1$, then $q - \frac{\tau}{\tau - \sigma - 1}(1 - p^{\frac{1}{\tau}}) > 0$ is a sufficient conditions for oscillation of Eq. (1).

In [12], Zhou et al. established the necessary and sufficient conditions for oscillation of all solutions of Eq. (1) by investigating the nature of the roots of its characteristic equation.

Our aim in this paper is to obtain a necessary and sufficient condition under which all solutions of the Eq.(1) oscillate. Indeed we prove that every solution of Eq. (1) oscillates if and only if its characteristic equation

$$(\lambda - 1)(1 + p\lambda^{-\tau}) + q\lambda^{-\sigma} = 0 \tag{2}$$

has no positive real roots. That is, the oscillatory character of the solution is determined by the roots of the characteristic equation. It is to be noted however, that in general the behavior of solutions of neutral delay difference equations exhibit features which are not true for nonneutral delay difference equations.

In the sequel all functional inequalities that we write are assumed to hold eventually, that is for all sufficiently large n .

2. Some useful lemmas

In this section we establish some useful lemmas which will be used in the proof of our main theorem.

Lemma 2.1 *Let $\{x(n)\}$ be an eventually positive solution of (1).*

Set

$$z(n) = x(n) + px(n - \tau) \tag{3}$$

If $p > -1$, then $\{z(n)\}$ is eventually positive solution of (1), decreasing and $\lim_{n \rightarrow \infty} z(n) = 0$.

Proof. We see that $z(n)$ is a linear combination of solutions of Eq. (1). By the linearity of Eq. (1) and its autonomous nature, $\{z(n)\}$ is also a solution of Eq. (1).

From (1) and (3), we have

$$\Delta z(n) = -qx(n - z) < 0.$$

This shows that $\{z(n)\}$ is strictly decreasing sequence. We will prove that $z(n) > 0$. For otherwise, $z(n) < 0$. This implies that $x(n) < -px(n - \tau)$. This is possible only when $-1 < p < 0$. Inductively, we have $x(n + k\tau) < (-p)^k x(n)$. This shows that $x(n) \rightarrow 0$ as $n \rightarrow \infty$ which leads to $z(n) \rightarrow 0$ as $n \rightarrow \infty$. This is a contradiction.

Hence $\{z(n)\}$ is decreasing, eventually positive solution of (1). Then we have $\lim_{n \rightarrow \infty} z(n) = l$ where $l \geq 0$.

We will prove that $l = 0$. For otherwise

$$\lim_{n \rightarrow \infty} \Delta[z(n) + pz(n - \tau)] = \lim_{n \rightarrow \infty} (-qz(n - \sigma)) = -ql.$$

Then

$$\lim_{n \rightarrow \infty} [z(n) + pz(n - \tau)] = -\infty.$$

This is a contradiction.

Hence

$$\lim_{n \rightarrow \infty} z(n) = 0.$$

Lemma 2.2 Let $\{x(n)\}$ be an eventually positive solution of (1).

Set $z(n) = -x(n) - px(n - \tau)$.

If $p < -1$, then $\{z(n)\}$ is an eventually positive solution of (1), increasing and

$$\lim_{n \rightarrow \infty} z(n) = +\infty.$$

The proof of the lemma is similar to that of the Lemma 2.1 and so the proof is omitted.

3. Main results

Our main result is the following:

Theorem 3.1 A necessary and sufficient condition for all solutions of Eq. (1) to oscillate is that the characteristic equation (2) has no positive roots.

Proof. Observe that for $p = 0$, Eq. (1) leads to

$$\Delta x(n) + qx(n - \sigma) = 0, \quad n \geq n_0 \tag{4}$$

and

$$q \frac{(\sigma + 1)^{\sigma+1}}{\sigma^\sigma} > 1 \tag{5}$$

is a necessary and sufficient condition for all solutions of (4) to oscillate (see, [5]).

Note that in this case the characteristic equation is

$$\lambda - 1 + q\lambda^{-\sigma} = 0 \tag{6}$$

and (5) is equivalent to the fact that (6) has no positive roots. Also for $p = -1$, Eq. (1) leads to

$$\Delta[x(n) - x(n - \tau)] + qx(n - \sigma) = 0, \quad n \geq n_0 \tag{7}$$

and every solution of (7) oscillates (see, [1]).

From these observations, it is clear that to prove the theorem we have to consider the following three cases for p :

- (i) $-1 < p < 0$,
- (ii) $p > 0$, and
- (iii) $p < -1$.

The theorem will be proved in the contrapositive form: There is a nonoscillatory solution of Eq. (1) if and only if the characteristic equation (2) has a positive root.

Assume first that (2) has a positive root λ_0 . Then Eq. (1) has the nonoscillatory solution

$$x(n) = \{\lambda_0^n\}.$$

Assume, conversely, that there is a nonoscillatory solution $\{y(n)\}$ of (1) which, without loss of generality, can be considered, eventually positive.

Consider now the following cases:

- (i) *The case* $-1 < p < 0$.

Set

$$x(n) = y(n) + py(n - \tau) \tag{8}$$

and

$$z(n) = x(n) + px(n - \tau). \tag{9}$$

Then $\{x(n)\}$ and $\{z(n)\}$ are eventually positive solutions of (1) and decreasing sequences. It is easy to see that $z(n) < x(n - \sigma)$. Define the set

$$\wedge(z) = \{\lambda > 1 : \Delta z(n) + (\lambda - 1)z(n) < 0 \text{ eventually}\}. \tag{10}$$

From (1) we have

$$0 = \Delta z(n) + qx(n - \sigma) > \Delta z(n) + qz(n), \text{ eventually,}$$

so that $1 + q \in \wedge(z)$. That is, $\wedge(z)$ is nonempty.

On the other hand, it follows that

$$0 = \Delta z(n) + qx(n - \sigma) = \Delta z(n) + qz(n - \sigma) - pqx(n - \tau - \sigma),$$

and summing from n to $n + \tau - 1$ we find

$$z(n + \tau) - z(n) + q \sum_{s=n}^{n+\tau-1} z(s - \sigma) - pq \sum_{s=n}^{n+\tau-1} x(s - \tau - \sigma) = 0.$$

Taking into account that both $\{z(n)\}$ and $\{x(n)\}$ are positive and decreasing, the last equation yields.

$$z(n + \tau) - z(n) + q\tau z(n + \tau - \sigma) - pq\tau x(n - \sigma) \leq 0,$$

which implies that

$$-pq\tau x(n - \sigma) \leq z(n).$$

Thus

$$0 = \Delta z(n) + qx(n - \sigma) \leq \Delta z(n) + \left(\frac{1}{-p\tau}\right)z(n), \text{ eventually.}$$

Therefore $\lambda_0 = 1 - \frac{1}{p\tau} > 1$ is an upper bound of $\wedge(z)$ which does not depend on z . Thus $\wedge(z)$ is nonempty and bounded from above.

Let $\lambda \in \wedge(z)$ and consider the function

$$w(n) = Tz = z(n) + pz(n - \tau). \tag{11}$$

Set

$$m = \inf_{\lambda > 1} \left\{ \left(\frac{1}{\lambda} - 1\right) (1 + p\lambda^\tau) + q\lambda^\sigma \right\}. \tag{12}$$

Assume, for the sake of contradiction, that (2) has no positive roots. Furthermore

$$\lim_{\lambda \rightarrow \infty} \left\{ \left(\frac{1}{\lambda} - 1\right) (1 + p\lambda^\tau) + q\lambda^\sigma \right\} = +\infty$$

and therefore m is positive. We will show that $2 - \frac{1}{\lambda} + m \in \wedge(w)$. From (1) and (11) and the fact that both $\{z(n)\}$ and $\{w(n)\}$ are solutions of (1), we obtain

$$\Delta w(n) = -qz(n - \sigma). \tag{13}$$

Define $u(n) = \lambda^n z(n)$. Then

$$\begin{aligned} \Delta u(n) &= \lambda^n \Delta z(n) + z(n + 1) \Delta \lambda^n \\ &= \lambda^n \Delta z(n) + z(n + 1) (\lambda^{n+1} - \lambda^n) \end{aligned}$$

$$\begin{aligned} &= \lambda^n [\Delta z(n) + (\lambda - 1)z(n+1)] \\ &\leq \lambda^n [\Delta z(n) + (\lambda - 1)z(n)] < 0, \quad \text{eventually} \end{aligned}$$

and therefore $\{u(n)\}$ is eventually decreasing. Since $z(n) = \lambda^{-n}u(n)$, (11) and (13) give, respectively

$$w(n) = \lambda^{-n}u(n) + p\lambda^{-n}\lambda^\tau u(n - \tau)$$

and

$$\Delta w(n) = -q\lambda^{-n}\lambda^\sigma u(n - \sigma).$$

Now using the fact that $\{u(n)\}$ is decreasing, we obtain

$$\begin{aligned} &\Delta w(n) + \left(1 - \frac{1}{\lambda} + m\right) w(n) \\ &= -q\lambda^{-n}\lambda^\sigma u(n - \sigma) + \left(1 - \frac{1}{\lambda} + m\right) \{\lambda^{-n}u(n) + p\lambda^{-n}\lambda^\tau u(n - \tau)\} \\ &= \lambda^{-n} \left\{ -q\lambda^\sigma u(n - \sigma) + \left(1 - \frac{1}{\lambda} + m\right) u(n) + \left(1 - \frac{1}{\lambda} + m\right) p\lambda^\tau u(n - \tau) \right\} \\ &\leq \lambda^{-n}u(n) \left\{ -q\lambda^\sigma + \left(1 - \frac{1}{\lambda}\right) + m + \left(1 - \frac{1}{\lambda}\right) p\lambda^\tau + mp\lambda^\tau \right\} \\ &< \lambda^{-n}u(n) \left\{ - \left[\left(\frac{1}{\lambda} - 1\right) (1 + p\lambda^\tau) + q\lambda^\sigma \right] + m \right\} \\ &\leq \lambda^{-n}u(n)[-m + m] = 0, \end{aligned} \tag{14}$$

which implies that $2 - \frac{1}{\lambda} + m \in \wedge(w)$. Now set $z_0(n) = z(n)$, $z_1(n) = Tz_0 = w(n)$, $z_2(n) = Tz_1$ and in general $z_n = Tz_{n-1}$, $n = 1, 2, 3, \dots$ and observe that for $\lambda \in \wedge(z) \equiv \wedge(z_0) \Rightarrow 2 - \frac{1}{\lambda} + nm \in \wedge(z_n)$, which is a contradiction, since λ_0 is a common upper bound for all $\wedge(z_n)$.

(ii) *The case $p > 0$.*

As in case (i) we set

$$z(n) = x(n) + px(n - \tau) \tag{9}$$

and

$$\wedge(z) = \{\lambda > 1 : \Delta z(n) + (\lambda - 1)z(n) < 0 \text{ eventually}\}. \tag{10}$$

In this case using the characteristic equation of (1).

$$F(\lambda) = (\lambda - 1)(1 + p\lambda^{-\tau}) + q\lambda^{-\sigma} = 0.$$

We see that if $\tau \geq \sigma > 0$, $F(1) = q$ while $\lim_{\lambda \rightarrow 0} F(\lambda) = -\infty$ and therefore (1) always has nonoscillatory solutions. Thus $\sigma > \tau$ is a necessary condition for all solutions of (1) to oscillate. By the Lemma 2.1, $\{x(n)\}$ and $\{z(n)\}$ are eventually positive solution of (1) and decreasing. Thus

$$z(n) = x(n) + px(n - \tau) < x(n - \sigma) + px(n - \sigma) = (1 + p)x(n - \sigma).$$

That is,

$$x(n - \sigma) > \frac{1}{1 + p}z(n).$$

From (1) we have

$$0 = \Delta z(n) + qx(n - \sigma) > \Delta z(n) + \frac{q}{1 + p}z(n), \quad \text{eventually,}$$

so that $1 + \frac{q}{1+p} \in \wedge(z)$. That is $\wedge(z)$ is nonempty.

Now we will show that $\wedge(z)$ is bounded from above. Observe that Eq. (1) is autonomous and $z(n)$, given by (9), as a linear combinations of solutions of (1) is itself a solution of (1) and therefore

$$\Delta z(n) + p\Delta z(n - \tau) + qz(n - \sigma) = 0.$$

Also $\Delta z(n) = -qx(n - \sigma) < 0$ and $\Delta^2 z(n) = -q\Delta x(n - \sigma) > 0$, that is, $\{\Delta z(n)\}$ is increasing and therefore $\Delta z(n) > \Delta z(n - \tau)$. Thus the last equation yields

$$(1 + p)\Delta z(n - \tau) + qz(n - \sigma) \leq 0,$$

or

$$\Delta z(n) + \frac{q}{1+p}z(n - (\sigma - \tau)) \leq 0. \tag{15}$$

Let $\kappa = \lceil \frac{\sigma - \tau}{2} \rceil$ where $\lceil \cdot \rceil$ denotes the greatest integer function.

Summing the inequality (15) from $n - \kappa$ to n , we have

$$\sum_{s=n-\kappa}^n \Delta z(s) + \frac{q}{1+p} \sum_{s=n-\kappa}^n z(s - (\sigma - \tau)) \leq 0,$$

or

$$z(n + 1) - z(n - \kappa) + \frac{q}{1+p}(\kappa + 1)z(n - (\sigma - \tau)) \leq 0,$$

or

$$\frac{q}{1+p}(\kappa + 1)z(n - (\sigma - \tau)) \leq z(n - \kappa),$$

or

$$z(n - (\sigma - \tau)) \leq \frac{1+p}{q(\kappa + 1)}z(n - \kappa). \tag{16}$$

Summing the inequality (15) from n to $n + \kappa$, we have

$$\sum_{s=n}^{n+\kappa} \Delta z(s) + \frac{q}{1+p} \sum_{s=n}^{n+\kappa} z(s - (\sigma - \tau)) \leq 0,$$

or

$$z(n + \kappa + 1) - z(n) + \frac{q}{1+p}(\kappa + 1)z(n + \kappa - \sigma + \tau) \leq 0,$$

or

$$-z(n) + \frac{q}{1+p}(\kappa + 1)z(n + \kappa - \sigma + \tau) \leq 0,$$

or

$$z(n + \kappa - \sigma + \tau) \leq \left(\frac{1+p}{q(\kappa + 1)} \right) z(n). \tag{17}$$

Using the fact that $n + \kappa - (\sigma - \tau) \leq n - \kappa$ and $\{z(n)\}$ is decreasing,

$$z(n + \kappa - (\sigma - \tau)) \geq z(n - \kappa). \tag{18}$$

Thus from (17) and (18), we have

$$z(n - \kappa) \leq z(n + \kappa - \sigma + \tau) \leq \frac{1+p}{q(\kappa + 1)}z(n),$$

or

$$z(n - \kappa) \leq \left(\frac{1+p}{q(\kappa+1)} \right) z(n). \quad (19)$$

Using (19) in (16), we have

$$z(n - (\sigma - \tau)) \leq \left(\frac{1+p}{q(\kappa+1)} \right) \left(\frac{1+p}{q(\kappa+1)} \right) z(n),$$

or

$$z(n - (\sigma - \tau)) \leq \left(\frac{1+p}{q(\kappa+1)} \right)^2 z(n). \quad (20)$$

Next summing $\Delta z(n) + qx(n - \sigma) = 0$ from $n - \sigma + \tau$ to $n - 1$, we obtain

$$z(n) - z(n - \sigma + \tau) + q(\sigma - \tau)x(n - \sigma - 1) = 0.$$

Since $\{x(n)\}$ is positive and decreasing and $z(n)$ is positive, we have

$$-z(n - \sigma + \tau) + q(\sigma - \tau)x(n - \sigma) \leq 0,$$

or

$$q(\sigma - \tau)x(n - \sigma) \leq z(n - (\sigma - \tau)). \quad (21)$$

Combining (20) and (21), we obtain

$$q(\sigma - \tau)x(n - \sigma) \leq \left(\frac{1+p}{q(\kappa+1)} \right)^2 z(n),$$

or

$$x(n - \sigma) \leq \frac{(1+p)^2}{q^3(\sigma - \tau)(\kappa + 1)^2} z(n).$$

Thus

$$0 = \Delta z(n) + qx(n - \sigma) \leq \Delta z(n) + q \frac{(1+p)^2}{q^3(\sigma - \tau)(\kappa + 1)^2} z(n), \quad \text{eventually,}$$

or

$$0 \leq \Delta z(n) + \left(\frac{(1+p)^2}{q^2(\sigma - \tau)(\kappa + 1)^2} \right) \Delta z(n), \quad \text{eventually.}$$

Therefore $\lambda_0 = 1 + \frac{(1+p)^2}{q^2(\sigma - \tau)(\kappa + 1)^2}$ is an upper bound of $\wedge(z)$ which does not depend on z . Thus $\wedge(z)$ is nonempty and bounded from above.

Now if we follow the same procedure as in the last part of the proof of case (i), considering $\lambda \in \wedge(z)$ and defining $w(n)$, m as in (11) and (12), we will show that $2 - \frac{1}{\lambda} + \mu \in \wedge(w)$, where $\mu = \frac{m}{1+p\lambda_0} > 0$.

Define the sequence $\{u(n)\}$ as in the case (i). Now

$$\begin{aligned} \Delta w(n) + \left(1 - \frac{1}{\lambda} + \mu \right) w(n) &= -qz(n - \sigma) + \left(1 - \frac{1}{\lambda} + \mu \right) [z(n) + pz(n - \tau)] \\ &= -q\lambda^{-n+\sigma}u(n - \sigma) + \left(1 - \frac{1}{\lambda} + \mu \right) \lambda^{-n}u(n) + \left(1 - \frac{1}{\lambda} + \mu \right) p\lambda^{-n+\tau}u(n - \tau) \end{aligned}$$

(since $\{u(n)\}$ is decreasing and $\sigma > \tau$)

$$< \lambda^{-n}u(n - \sigma) \left\{ -q\lambda^\sigma + \left(1 - \frac{1}{\lambda} + \mu \right) + \left(1 - \frac{1}{\lambda} \right) p\lambda^\tau + \mu p\lambda^\tau \right\}$$

$$\begin{aligned}
 &= \lambda^{-n}u(n - \sigma) \left\{ -q\lambda^\sigma + \left(1 - \frac{1}{\lambda}\right) (1 + p\lambda^\tau) + \mu(1 + p\lambda^\tau) \right\} \\
 \Delta w(n) + \left(1 - \frac{1}{\lambda} + \mu\right)w(n) &< \lambda^{-n}u(n - \sigma) \left\{ -\left(\left(\frac{1}{\lambda} - 1\right) (1 + p\lambda^\tau) + q\lambda^\sigma\right) + \mu(1 + p\lambda^\tau) \right\} \\
 &\leq \lambda^{-n}u(n - \sigma) \{-m + \mu(1 + p\lambda_0^\tau)\} = 0
 \end{aligned}$$

which implies that $2 - \frac{1}{\lambda} + \frac{m}{1+p\lambda_0^\tau} \in \wedge(w)$. Thus (as in case (i)) leads to a contradiction

(iii) *The case $p < -1$.*

First, we assume $\tau \geq \sigma$. Set

$$x(n) = -y(n) - py(n - \tau) \tag{22}$$

and

$$z(n) = -x(n) - px(n - \tau). \tag{23}$$

Then by Lemma 2.2 $\{x(n)\}$ and $\{z(n)\}$ are eventually positive solutions of (1) and increasing. From (23) we have

$$x(n - \sigma) > \frac{1}{-p}z(n).$$

Define the set

$$\wedge(z) = \{\lambda > 1 : -\Delta z(n) + (\lambda - 1)z(n) < 0 \text{ eventually}\}. \tag{24}$$

From (1)

$$0 = -\Delta z(n) + qx(n - \sigma) > -\Delta z(n) - \frac{q}{p}z(n),$$

so that $1 - \frac{q}{p} \in \wedge(z)$. That is, $\wedge(z)$ is nonempty.

Now we will show that $\wedge(z)$ is bounded from above. From (23) we have

$$x(n - \tau) = \frac{1}{-p}(x(n) + z(n))$$

and therefore

$$\Delta z(n) = qx(n - \sigma) = \frac{q}{-p} [x(n + \tau - \sigma) + z(n + \tau - \sigma)].$$

Summing the last equation from $n - \tau$ to $n - 1$ and taking into account that $\{x(n)\}$ and $\{z(n)\}$ are eventually positive and increasing, we obtain

$$\sum_{s=n-\tau}^{n-1} \Delta z(s) = \frac{-q}{p} \sum_{s=n-\tau}^{n-1} (x(s + z - \sigma) + z(s + z - \sigma)),$$

or

$$z(n) - z(n - \tau) \geq \frac{-q\tau}{p}(x(n - \sigma) + z(n - \sigma)),$$

which implies that

$$x(n - \sigma) \leq \frac{-p}{q\tau}z(n), \text{ eventually.}$$

Thus

$$0 = -\Delta z(n) + qx(n - \sigma) \leq -\Delta z(n) + \left[\left(1 - \frac{p}{\tau}\right) - 1\right] z(n), \text{ eventually.}$$

Therefore $\lambda_0 = 1 - \frac{p}{\tau}$ is an upper bound of $\wedge(z)$ which does not depend on z . Thus $\wedge(z)$ is nonempty and bounded from above.

Next we follow a procedure analogous to that given in the last part of the proof of case (i). Since $\wedge(z)$ is nonempty, there exist $\lambda \in \wedge(z)$.

Consider the sequence $\{w(n)\}$ where

$$w(n) = -z(n) - pz(n - \tau) \quad (25)$$

which is also a solution of (1) and therefore from (1), $\Delta w(n) = qz(n - \sigma)$.

Assume for the sake of contradiction, that (2) has no positive roots and set

$$m = \inf_{\lambda > 1} \{(\lambda - 1)(1 + p\lambda^{-\tau}) + q\lambda^{-\sigma}\}. \quad (26)$$

Then m is positive. We shall show that $\lambda + \mu \in \wedge(w)$ where $\mu = \frac{m}{-p} > 0$. Define $u(n) = \lambda^{-n}z(n)$. Then

$$\Delta u(n) = \lambda^{-(n+1)} [\Delta z(n) - (\lambda - 1)z(n)] > 0, \text{ eventually}$$

and therefore $\{u(n)\}$ is eventually increasing sequence. Since $z(n) = \lambda^n u(n)$, similarly as in (14), we obtain

$$\begin{aligned} -\Delta w(n) + (\lambda - 1 + \mu)w(n) &= -q\lambda^{n-\sigma}u(n - \sigma) + (\lambda - 1 + \mu) [-\lambda^n u(n) - p\lambda^{n-\tau}u(n - \tau)] \\ &\leq \lambda^n u(n - \sigma) \{-q\lambda^{-\sigma} - (\lambda - 1 + \mu) + (\lambda - 1 + \mu)(-p)\lambda^{-\tau}\} \\ &= \lambda^n u(n - \sigma) \{-(\lambda - 1)(1 + p\lambda^{-\tau}) - q\lambda^{-\sigma} - \mu - \mu p\lambda^{-\tau}\} \\ &< \lambda^n u(n - \sigma) \{-m - \mu p\lambda^{-\tau}\} \\ &< \lambda^n u(n - \sigma) \{-m + \mu(-p)\} = 0 \end{aligned}$$

which implies that $\lambda + \mu \in \wedge(w)$ and, as before, we are lead to a contradiction.

To complete the proof in this case that $p < -1$ we have to assume that $\sigma > \tau$. Here we set

$$z(n) = -x(n) - px(n - \tau) + q \sum_{s=n-\sigma}^{n-\tau-1} x(s)$$

which is a solution of (1) eventually positive.

Set

$$x(n) = -y(n) - py(n - \tau)$$

and

$$v(n) = -x(n) - px(n - \tau). \quad (27)$$

Then

$$z(n) = v(n) + q \sum_{s=n-\sigma}^{n-\tau-1} x(s) \quad (28)$$

Then $\{v(n)\}$ and $\{x(n)\}$ are eventually positive solution and increasing. Since $z(n)$ is a linear combination of eventually positive solutions $\{x(n)\}$ and $\{v(n)\}$, $\{z(n)\}$ is also an eventually positive solution of (1). From (1), we have $\Delta z(n) = qx(n - \tau) > 0$ which implies that $\{\Delta z(n)\}$ is increasing. Therefore (28) yields.

$$z(n) < -px(n - \tau) + q \sum_{s=n-\sigma}^{n-\tau-1} x(s),$$

or

$$z(n) < -px(n - \tau) + q(\sigma - \tau)x(n - \tau),$$

or

$$z(n) < (q(\sigma - \tau) - p)x(n - \tau),$$

or

$$x(n - \tau) > \frac{1}{(q(\sigma - \tau) - p)}z(n).$$

As before, we define the set

$$\wedge(z) = \{\lambda > 1 : -\Delta z(n) + (\lambda - 1)z(n) < 0 \text{ eventually}\}. \quad (29)$$

In view of the last inequality, we have

$$0 = -\Delta z(n) + qx(n - \tau) > -\Delta z(n) + \frac{q}{q(\sigma - \tau) - p}z(n), \text{ eventually}$$

so that $\lambda_1 = 1 + \frac{q}{q(\sigma - \tau) - p} \in \wedge(z)$. That is, $\wedge(z)$ is nonempty.

Next, we will show that $\wedge(z)$ is bounded from above. Since $\{z(n)\}$ is a solution of (1) it follows that

$$\Delta z(n) + p\Delta z(n - \tau) + qz(n - \sigma) = 0$$

which implies

$$\Delta z(n) + p\Delta z(n - \tau) \leq 0.$$

But $\Delta z(n) = qx(n - \tau)$ and thus

$$qx(n - \tau) + p\Delta z(n - \tau) \leq 0.$$

Summing the last inequality from n to $n + \tau - 1$ and taking into account that $\{x(n)\}$ is positive and increasing and $\{z(n)\}$ is eventually positive, we obtain

$$0 \geq q \sum_{s=n}^{n+\tau-1} x(s - \tau) + p \sum_{s=n}^{n+\tau-1} \Delta z(s - \tau)$$

$$\geq q\tau x(n - \tau) + p[z(n) - z(n - \tau)]$$

$$\geq q\tau x(n - \tau) + pz(n)$$

which implies

$$q\tau x(n - \tau) + pz(n) \leq 0, \text{ eventually}$$

or

$$x(n - \tau) \leq \frac{(-p)}{q\tau}z(n), \text{ eventually.}$$

Thus

$$0 = -\Delta z(n) + qx(n - \tau) \leq -\Delta z(n) + \frac{(-p)}{\tau}z(n), \text{ eventually}$$

which implies that $\lambda_0 = 1 - \frac{p}{\tau}$ is an upper bound of $\wedge(z)$ which does not depend on z . Thus $\wedge(z)$ is nonempty and bounded from above.

Now let $\lambda \in \wedge(z)$ with $\lambda \leq \lambda_1$. Consider the sequence $\{w(n)\}$ where

$$w(n) = -z(n) - pz(n - \tau) + q \sum_{s=n-\sigma}^{n-\tau-1} z(s).$$

Using the fact that $\{z(n)\}$ and $\{w(n)\}$ are solutions of (1), we obtain

$$\Delta[z(n) + pz(n - \tau)] = -qz(n - \sigma),$$

or

$$\Delta \left[w(n) - q \sum_{s=n-\sigma}^{n-\tau-1} z(s) \right] = qz(n - \sigma).$$

This implies

$$\Delta w(n) = qz(n - \tau).$$

We define m as in (26) and $u(n) = \lambda^{-n}z(n)$. We will show that $(\lambda - 1) + \mu \in \wedge(w)$ where

$$\mu = \frac{m\lambda_1^\tau}{\left(\frac{q}{\lambda_1-1} - p\right)}.$$

We have

$$\begin{aligned} & -\Delta w(n) + (\lambda - 1 + \mu)w(n) \\ &= [-qz(n - \tau)] + (\lambda - 1 + \mu) \left[-z(n) - pz(n - \tau) + q \sum_{s=n-\sigma}^{n-\tau-1} z(s) \right] \\ &= -q\lambda^{n-\tau}u(n - \tau) + (\lambda - 1 + \mu) \left[-\lambda^n u(n) - p\lambda^{n-\tau}u(n - \tau) + q \sum_{s=n-\sigma}^{n-\tau-1} \lambda^s u(s) \right] \end{aligned}$$

(and since $\{u(n)\}$ is increasing and $\sigma > \tau$)

$$\begin{aligned} &= \lambda^n u(n - \tau) \left\{ -q\lambda^{-\tau} + (\lambda - 1 + \mu) \left[-1 - p\lambda^{-\tau} + q\lambda^{-n} \sum_{s=n-\sigma}^{n-\tau-1} \lambda^s \right] \right\} \\ &= \lambda^n u(n - \tau) \left\{ -[(\lambda - 1)(1 + p\lambda^{-\tau}) + q\lambda^{-\sigma}] + \mu(-1 - p\lambda^{-\tau}) + \mu q \left(\frac{\lambda^{-\tau} - \lambda^{-\sigma}}{\lambda - 1} \right) \right\} \\ &< \lambda^n u(n - \tau) \left\{ -[(\lambda - 1)(1 + p\lambda^{-\tau}) + q\lambda^{-\sigma}] - \mu p\lambda^{-\tau} + \left[\frac{\mu q \lambda^{-\tau}}{\lambda - 1} \right] \right\} \\ &= \lambda^n u(n - \tau) \left\{ -[(\lambda - 1)(1 + p\lambda^{-\tau}) + q\lambda^{-\sigma}] + \mu \lambda^{-\tau} \left(\frac{q}{\lambda - 1} - p \right) \right\} \\ &\leq \lambda^n u(n - \tau) \left\{ -m + \mu \lambda_1^{-\tau} \left(\frac{q}{\lambda_1 - 1} - p \right) \right\} = 0 \\ &\leq \lambda^n u(n - \tau) \left\{ -m + \mu \lambda_1^{-\tau} \left(\frac{q}{\lambda_1 - 1} - p \right) \right\} = 0 \end{aligned}$$

which implies that $\lambda + \mu \in \wedge(w)$ and we are lead to a contradiction.

The proof of the theorem is complete.

4. Remarks

In [1,10], several sufficient conditions involving p, τ, q and σ have been obtained under which all solutions of (1) oscillate. In the present paper we can very easily derive sufficient conditions in terms of p, τ, q and σ by comparing element of the set $\wedge(z)$ in each case. For example, in the case where $-1 < p < 0$ we found that $1 + q \in \wedge(z)$ while $1 - \frac{1}{p\tau}$ is an upper bound of $\wedge(z)$. Therefore if we assume that $q > -\frac{1}{p\tau}$ we are lead to a contradiction and every solution must oscillate. Summarizing we have the following:

Consider the first order neutral delay difference equation

$$\Delta[x(n)+px(n-\tau)]+qx(n-\sigma) = 0, \quad n \geq n_0, \quad (1)$$

where τ and σ are positive integers, q is a positive constant and p is a real parameter. Then each of the following conditions

$$(-p)q\tau > 1 \quad \text{when} \quad -1 < p < 0, \quad (30)$$

$$\left(\frac{q}{1+p}\right)^3 (\sigma - \tau)(\kappa + 1)^2 > 1 \quad \text{when} \quad p > 0, \quad \text{where} \quad \kappa = \left\lceil \frac{\sigma - \tau}{2} \right\rceil, \quad (31)$$

$$\frac{q\tau}{p^2} > 1. \quad \text{when} \quad p < -1 \quad \text{and} \quad \tau \geq \sigma, \quad (32)$$

or

$$\frac{q\tau}{p^2 - pq(\sigma - \tau)} > 1 \quad \text{when} \quad p < -1 \quad \text{and} \quad \sigma > \tau \quad (33)$$

implies that every solution of (1) oscillates.

From the above result it follows that each of the conditions (30)-(33) implies that Eq. (2) has no positive roots something that cannot be so easily determined by investigating directly the equation (2).

References

- [1] R. P. Agarwal, Difference Equations and Inequalities: Theory , Methods and Applications, Marcel Dekker, New York, 1999.
- [2] R.P. Agarwal and P. J. Y. Wong, Advanced Topics in Difference Equations, Kluwer, Dodrecht, 1997.
- [3] S. N. Elaydi, An Introduction to Difference Equations, Springer Verlag, New York, 1996.
- [4] Ethiraju Thandapani, Ramalingam Arul and Palanisamy S. Raja, Oscillation of first order neutral delay difference equations, Appl. Math. E-Notes, 3(2003), 88-94.
- [5] I. Gyori and G. Ladas, Oscillation Theory of Delay Differential Equations with Applications, Clarendon Press, Oxford, 1991.
- [6] W. G. Kelley and A. C. Peterson, Difference Equations: An introduction with Applications, Clarendon Press, Oxford 1991.
- [7] V. Lakshmikantham and D. Trigiante, Theory of Difference Equations, Academic Press, New york, 1988.
- [8] Özkan Öcalan, Oscillation criteria for systems of difference equations with variable coefficients, Appl. Math. E-Notes, 6(2006), 119-125.
- [9] X. H. Tang and Xiaoyan Lin, Necessary and sufficient conditions for oscillation of first - order nonlinear neutral difference equations, Comput. Math. Appl. 55(2008), 1279-1292.
- [10] Xiaohui Gong, Xiaozhu zhong, Jianqiang Jia, Rui Ouyang and Hongqiang Han, Oscillation of first order Neutral Difference Equation, Modern Applied Science, 3(8) (2009), 90-94.

- [11] Ying Gao and Guang Zhang, Oscillation of nonlinear first order neutral difference equations, *Appl. Math. E-Notes*, 1(2001), 5-10.
- [12] Z. Zhou and J. S. Yu, Linearized oscillations for difference equations of neutral type, *Math. Sci. Res. Hot-Line* 1(11)(1997), 1-8.